FILTER| ©epar2000 EEi1x 2

EFIL SWK2000/5/50

140 46. 5
1/18
I 104 68
52 21 NP 34
— i
4
%
Aus ‘:IAE 5 g T f
57 [ &
2 ‘ 60 8 8
5 o 1 | | out |aus
# 90 ﬁ 0]
—r =
IN EIN
Ein P T ° @%
! ! ‘L g 73
o [ I P—"
/?90 §
D33
1 = IF7HREARYYa— 7 = Tydr— 14 = KoL
2 = ILAVH ﬁ@— Ry )a— 8 = NHUUY 15 = KLAVnNLITROY VY
3 = Ib{%h HN— 9 = KYLAEOYVY 16 = KLAvnLT
4 = ')“JFjJXﬁ’T“JI‘ 10= AR FFyYLsy 17 = RY)a—
5 = R7YvY Ahtvtr 11= EDEksE 18 = ARy b+ (TT7HREARY ) 2—)
6 = 74»9—~Iv%>h 12= BREYVYT RH)a— 19 = HARZY M (F55FvvTRY)a2—)
(10, 30 13= J35%xvTIRYJa— EHiE%: ®A5L/H D82 Onbar

_;-,-H_‘aF b

1] =

s r — - .t.
?i YU aZw bk w FaAT7)V A=w b ;’
B SWK2000/5 o SWK2000/5/U §:

¥

i & UTERE S N A B OHEER

1. BV(Bureau Veritas) DFZEE X VRV ZICREENTVWET DT, 7LD
BEEDLARIE, ETIVARREICM DDV E DM BEEE LTI,

2. TV VM1 EMROMOLAICIE, T Y UREBMCYID B ANRER T ATV 22w b
DM Z BEID VT LT,




SEPAR
FILTER| Separ2000 EEH X

WELYY I ETIVOETE,. TV VOBRIR T

D& D LHICKZDOY A XTITS EFL AT gy

e - ZUTRYIL MK = X 20UR L+ B A

2000/5 = 5L/ U = Fa7LaA7 D =2U7RY)+b—FrI—LR

ggggﬂg - }gijg\ II\(/[ :zz ;;biz;}ubwkwn%ﬁ S =KLV —

2000/40 = 40L/%) H —t—%—ff% 120r24V

2000/130 = 130L/% KD =% U7 KL+ bt— k¥ —)b K-+ KR

N — . DAY Fa7)
S S e 2 b Lior | 305w T

SWK-2000/5 SWK-2000/5/U V7RIV 5 M16X1.5 12mm
SWK-2000/5/50  |SWK-2000/5/50/U |2V 7RIl 5 M16X15 12mm
SWK-2000/5/50/K |SWK-2000/5/50/UK |2V 7 R )L+ 5 M16X1.5 12mm
SWK-2000/5/50/D |SWK-2000/5/50/UD |7V 7RI)L+b—h>—L K 5 M16X15 12mm
SWK-2000/5/50/KD| SWK-2000/5/50/UKD | 7V 7 RI)L+>—V R+5 5 M16x1.5 12mm
SWK-2000/5/50/M | SWK-2000/5/50/UM | A Z)LRYL 5 M16x15 12mm
SWK-2000/5/50/MK| SWK-2000/5/50/UMK| A 2L R )b+ KA 5 M16x1.5 12mm
SWK-2000/5/50/H 2T R4 b—Z— 5 M16x1.5
SWK-2000/10 SWK-2000/10/U 207 RV 10 M22x1.5 15mm
SWK-2000/10/K | SWK-2000/10/UK 20 7 R UK 10 M22x1.5 15mm
SWK-2000/10/D | SWK-2000/10/UD ZUT7RIV+e—by—VE | M22x1.5 15mm
SWK-2000/10/KD  |SWK-2000/10/UKD | ZVU7RIL+>—LR+H4H | o M22x1.5 15mm
SWK-2000/10/M  |SWK-2000/10/UM | AZLERYIL 10 M22x1 5 15mm
SWK-2000/10/MK | SWK-2000/10/UMK | A 2L )L+ KBRIEE 10 M22x1.5 15mm
SWK-2000/10/H ST RN b— K — 10 M22x1.5
SWK-2000/18 SWK-2000/18/U 297KV 18 M26x1.5 22mm
SWK-2000/18/K | SWK-2000/18/UK 207 R UK 18 M26x1.5 22mm
SWK-2000/18/D | SWK-2000/18/UD ZUT7ERIV+e—bY—LE g M26x1.5 22mm
SWK-2000/18/KD | SWK-2000/18/UKD | Z V7RI +—LR+HH g M26x1.5 22mm
SWK-2000/18/M | SWK-2000/18/UM | AZLRYIL 18 M26x1 5 292mm
SWK-2000/18/MK | SWK-2000/18/UMK | A 2L R )L+ KB 18 M26x1.5 22mm
SWK-2000/40/M | SWK-2000/40/UM | AZLRYIL 40 M33x2.0 35mm
SWK-2000/40/MK | SWK-2000/40/UMK | A 2L )L+ KBHIEE 40 M33x2.0 35mm
SWK-2000/40/MS | SWK-2000/40/UMS | AZLETIL+LALEYH— 4 ¢ M33x2.0 35mm
SWK-2000/40/2/MK R 2VR V- IR 80 [ 4 2mm
SWK-2000/130/MK | SWK-2000/130/UMK | A 2V R )L+ /KBRAHE 130 | 27547 27 AT
SWK-2000/130/MS |SWK-2000/130/UMS | AZVRIIL+LANLEIH— 130 | 27 ysir7 | 27 »ir
SWK-2000/130/2/MK AZVRTIV KA | 130 | 27 507 | 27 507

) MHTHEHE NS SG, TN LMEROLEERT A7V 2 A TOMiMz BV LET




	セパー説明４_01
	セパー説明５_01

